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Answers to questions are to be given only in English except in the case of candidates who have
opted for Hindi Medium. If a candidate has not opted for Hindi medium, his answers in Hindi

will not be valued.

Question No.1 is compulsory.
Attempt any five questions from the remaining six questions.

Working notes ~hould'forrnpart of the answer.

1. Answer the following:

Marks

4xS
=20

(a)' Compute the sales variances (total, price and volume) from the following,
figures: '-

(b) ABC Limited has received an offer of quantity discounts on its order of
materials as under:

Price per tonne

~

4,800

4,680

4,560

4,440

4,320

Tonnes<

Nos.

Less than 50

50 and less than 100

100 and less than 200

200 and less than 300

300 and above
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Budgeted
Budgeted Actual Actual

Product
quantity

Price per
quantity

Price per
Unit () unit ()

P 400@ 25 4800 ' 30

Q 3000 50 2800 , 45

R 2008 75 2400 70

S 1000 100 800 , 105
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The annual requirement for the material is 500 tonnes. The ordering cost

per order is ~ 6,250 and the stock holding cost is estimated at 25% of the

material cost per annum.
.

Required:

(i) Compute the most economical purchase level.

(ii) Compute E.O.Q. if there are no quantity discounts and the price per
tonne is ~ 5,.250.

(c) MNP Limited has made plans for the next year 2010-11. It is estimated that the

company will employ total assets of ~ 25,00,000; 30% of assets being financed

by debt at an interest cost of 9% p.a. The direct costs for the year are estimated

at ~ 15,00,000 and all other operating expenses are estimated at ~ 2,40,000.

The sales revenue are estimated at ~ 22,50,000. Tax rate is assumed to be 40%.

Required to calculate:

(i) Net profit margin

(iii) Asset turnover

(ii) Return on Assets

(iv) Return on equity

(d) PQR Ltd. has the following capital structure on October 31,2010 :

The market price of equity share is ~ 30. It is expected that the company will

pay next year a dividend of ~ 3 per share, which will grow at i% forever.
Assume 40% income tax rate.

You are required to compute weighted average cost of capital using market

value weights.

\ . APJ-H

.

Equity Share Capital 20,00,000

(2,00,000 Shares of 10 each)

Reserves & Surplus 20,00,000

12% Preference Shares 10,00,000

9% Debentures 30,00,000

80,00,000
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2. (a) PQR Construction Ltd. commenced a contract on April 1, 2009. The total

contract was for ~ 27,12,500. It was decided to estimate the total profit and to

take to the credit of P/L Nc the proportion of estimated profit on cash basis

which work completed bear to the total contract. Actual expenditure in.2009-
10 and estimated expenditure in 2010-11 are given below:

8

4

2009-10 2010-11

Actuals (~) Estimated (~)

Materials issued 4,56,000

3,05,000

8,14,000

3,80,000Labour: Paid

: Outstanding at end 24,000

2,25,000

37,500

Plant purchased

Expenses : Paid 1,00,000 1,75,000

25,000: Outstanding at the end

: Prepaid at the end 22,500

75,000 1,50,000
(on Dec. 31,
,2010)

Plant returned to stores (at historical cost)

Material at site 30,000

12,75,000

75,000

Work-in-progress certified Full

Work-in-progress uncertified

Cash received

40,000.

10,00,000 Full

The plant is subject to annual depreciation @ 20% of WDV cost. The contract

is likely to be completed on December 31,2010. .

Required:

(i) Prepare the Contract Nc for the year 2009-10.

(ii) Estimate the profit on the contract for the year 2009-10 on prudent basis
which has to be credited to P/L Nc.

APJ-H P.T.O.
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(b) RST Limited is considering relaxing its present credit policy and is in the
process of evaluating tw,o proposed policies. Currently, the firm has annual
credit sales of ~ 225 lakhs and accounts receivable turnover ratio of 5 times a

year. The current level of loss due to bad debts is ~ 7,50,000. The firm is
required to give a return of 20% on the investment in new accounts
receivables. The company's variable costs are 60% of the selling price. Given
the following information, which is better option?

(Amount in ~ Lakh)

(a) Following information is available regarding Process A for the month of
October 2010 :

Production Record:

(i) Opening work-in-progress

(Material: 100% complete, 25% complete for
labour & overheads)

(ii) Units Introduced

(iii) Units Completed

(iv) Units in-process on 31.10.2010

(Material: 100% complete, 50% complete for
labour & overheads)

Cost Record:

Opening Work-in-Progress :
Material

Labour

Overheads

40,000 Units

1,80,000 Units

1,50,000 Units

, 70,000Units

~ 1,00,000

~ 25,000

~ 45,000

Cost incurred during the month:
Material

Labour

Overheads

~ 6,60,000

~ 5,55,000

~ 9,25,000

APJ-H
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8

4

8

Present Policy Policy
Policy Option I Option II

Annual credit sales () 225 275 350

Accounts receivable turnover ratio 5 4 3

Bad debt losses () 7.5 22.5 47.5
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Assume that FIFO method is used for W.LP. inventory valuation.

Required:
(i) Statement of Equivalent Production
(ii) Statement showing Cost for each element
(iii) Statement of apportionment of Cost
(iv) Process A Account.

.
\

4. (a) Balance Sheets of ABC Limited as on March 31, 2009 and March 31, 2010 are
asunder:

8
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(b)' (i) Calculate the degree of operating leverage, degree of financial leverage 4

and the degree of combined leverage for following firms and interpret
the results:

P Q R

Output (Units) 2,50,000 1,25,000 7,50,000

Fixed Cost () 5,00,000 2,50,000 10,00,000

Unit Variable cost () 5 2 7.50

Unit Selling price () 7.50 7 10.0

Interest Expense () 75,000 25,000 -

(ii) Discuss the liquidity vs. profitability issue in manage1Jlent of working 4
capital.

Liabilities 31.3.2009 31.3.2010 Assets ;31.3.2009 31.3.2010

,
Share Capital 40,00,000 40,00,000 Land and Buildiqg 30,00,000 28,00,000

General Reserve 8,00,000 9,00,000 Plant and Machinery. 36,00,000 35,00,000

Profit and Loss Alc 5,00,000 7,20,000 Investments (long 8,00,000 7,44,000
term)

10% debentures 20,00,000 16,00,000 Stock 9,60,000 17,00,000

Bank Loan (longterm) 10,00,000 12,00,000 Debtors I, 12,00,000 15,96,000

Creditors 8,00,000 11,60,000 Prepaid Expenses 1,00,000 80,000

Outstanding 40,000 50,000 Cash and Bank 2,80,000 1,70,000

Expenses

Proposed dividend 6,00,000 7,20,000

Provision for taxation 2,00,000 2,40,000

99,40,000 1,05,90,000 99,40,000 1,05,90,000
,
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AdditionalInformation:

(i) New machinery for ~ 6,00,000 was purchased but an old machinery

costing ~ 2,90,000 was sold for ~ 1,00,000 and accumulated depre~iation
thereon was ~ 1,50,000.

.

(ii) 10% debentures were redeemed at 20% premium.

(iii) Inves.tments (long term) were sold for ~ 90,000 and its profit was

transferred to general reserve.

(iv) ~ncome-taxpaid during the year 2009-10 was ~ 1,60,000.

(v) An interim dividend of ~ 2,40,000 has been paid during the year 2009-
10.

(vi) Assume the provision for taxation as current liability and proposed

dividend as non-current liability.

(vii) Investments (long term) are non-trade investments.

Required:

i)

ii)

Schedule of changes in working capital.

Funds flow from operations for the year ended March 31, 2010.

(b) MNP Ltd sold 2,75,000 units of its product at ~ 37.50 per unit. Variable costs

are ~ 17.50 per unit (manufacturing costs of ~ 14 and selling ~ost of ~ 3.50 per
unit). Fixed costs are incurred uniformly throughout the year and amount to

~ 35,00,000 (including depreciation of ~ 15,00,000). There are no beginning or

ending inventories.

8

Required:

(i) Estimate breakeven sales level quantity and cash breakeven sales level

quantity.

Estimate the PN ratio.(ii)

(iii) Estimate the number of units that must be sold to earn an income (EBIT)

of ~ 2,50,000.

(iv) Estimate the sales level to achieve an after-tax income (PAT) of

~ 2,50,000. Assume 40% corporate Income Tax rate.

APJ-H
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A manufacturing company has disclosed a net loss of ~ 8,75,000 as per their

cost accounting records for the year ended March 31, 2010. However, their

financial accounting records disclosed a net loss of ~ 7,91,250 for the same.
period. A scrutiny of the data of both the sets of books of accounts revealed the

following information:

.'

5. (a)

. (i)

, (x)

(7)
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FactQryoverheads over-absorbed

(ii) Administration overheads under-absorbed

(iii) Depreciation charged in Financial Accounts

(iv) Depreciation charged in Cost Accounts

(v) Interest on investments not included in Cost Accounts

(vi) Income Tax provided in Financial Accounts

(vii) Transfer fees (credit in Financial Accounts)

(viii) Preliminary expenses written off

(ix) Under-valuation of opening stock in Cost Accounts

Under valuation of closing stock in Cost Accounts

Required:

Prepare a Memorandum Reconciliation Nc.

(b) Distinguish between the following:

(i)

(ii)

Marks

8

4

Profit maximisation vs Wealth maximisation objective of the firm.

2x4
=8

Global Depository Receipts and American Depository Receipts.

APJ-H
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47,500

32,750

2,25,000

2,42,250

62,750

7,250

12,500

27,500-

6,250

17,500
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(a) A company has to make a choice between two machines X and Y. The two

machinesare designeddifferently,but have identical capacity and do.exactly
the same job. Machine 'X' cost ~ 5,50,000 and will last for three years. It costs

~ 1,25,000 per year to run. Machine 'Y' is an economy model costing

~ 4,00,000, but will last for two years and costs ~ 1,50,000 per year to run.

These are real cash flows. The costs are forecasted in Rupees of constant

purch~sing power. Opportunity cost of capital is 12%. Ignore Taxes. Which

machine company should buy?

~

t

8

t = 1

PVIFo.12, t ~9
PVIFAo.12, 2 = 1.6901

PVIFAo, 12,3 = 2.4019

t = 2 t = 3

0.7972 0.7118

(b) Write short notes on the following: 2x4
=8

(i)

(ii)

Essential factors for installing a Cost Accounting system.

Treatment of under-absorbed and over-absorbed 'overheads in Cost

Accounting.

Answer any four of the following:. 4x4
=16

(a) What are the methods of re-apportionment of service department expenses

over the production departments? Discuss.

(b) How apportionment of joint costs upto the ppint of separation amongst the

joint products using market value at the point of separation and net realizable
value method is done? Discuss.

(c) Discuss the estimation of working capital need based on operating cycle

process.

(d)

(e)

Discuss financial break-even and EBIT-EPS indifference analysis.

Discuss the three different methods of calculating labour turnover.

\,'.

APJ-H
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(Hindi Version)

~~Cf>T~~~~TfIT~, ~cfi"3"W~ ~~m~~ I

~~FRR~~~TfITt ~~~"3"W~t

m~~~~.m"3W1q)f ~~iCf)'1~WIT I

~~1~~1

Wl:ftJ:~~~~~~cfi"3"W~ I

~ rc.\J.jful~i(Working Notes)"3"Wcfi'qflT~~ I

r'1~r~r(g(1 cfi"3"W~:

(-31) ~ 3tCfiT~ ~ rq~~'1 (~, ~ C'MTl1BITrCt~~'1) q)f ~ cR :

(~) -31.~. ~. r~r~~-5Cf>T~ 300Tl1BITcfi3W:W~~q)f>mw-f~~ I

~1Jfif~ ~1fT5fT
f

APJ-H
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4

4x5
=20

P.T.O.

..

cm'<'1 Ct) (:11«1 fee Ct)

1Jfif (f) 1Jfif (f)1fT5fT 1fT5fT

3T 4000 25 4800 30

3000 50 2800 45

2000 75 2400 70

G 1000 100 800 105

4,800 50 Cf)11

4,680 50.a:hr 100 Cf)11

4,560 100 .a:hr200 Cf)11

4,440 200 .a:hr300

4,320 300 .a:hr
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~ ~ ~ col11m500c:;,~ I~ ~, ~ tTcol BTTffi~ 6,250

~ l~yJ{-qlfCI'1BTTffi~~CfiT25%3i1j..tlr'1d~ I .
t

~~:
(i) ~: ~ ~ ~col11mcolTTURT~ I
(ii) ~ ~ col~ colTTURT~, ~ ~ ~ 11m~ ~.o/ W /

Cfitm~~~, ~~~col~~ 5,250~c:;,~ I

(~) ~.~.cIT. rMr~2.-S-q~ 2010-11col~nt<:rRcol~ I~~~~ ~ 25,00,000
col~ ~ ~ w:ITrrm- I~ CfiT30% cnt,9% ~ ~ ~ col~ 0/, ~ IDU

~~ I~BTTffiCfiT ~~ 2010-11cf>m, ~ 15,00,000 WTf<:rPT<:rT~I

yJ{-qIfCI'1~ CfiT~ ~ 2,40,000 CfiT~ I ~ ~ ~ CfiT ~ ~ 22,50,000 ~. I

~col~40%~ I

~t r~l--<1rfCIr~dcolTTURT~:

(i) ~"ffi'q~

(ii) ~~r~~1 CfiT~ (ROA)

(iii) ~ ~

(iv) WffiTo/~ (ROE)

(q) ~ 31, 2010 cntcIT.~.3W. rfCIr~2.-scol-ipIT~f.¥;f~ :.

WffiT~ CfiT~ ~ ~ 30 ~ ~ ~ I ~ ~ ~ cf>~ 3 ~ ~ ~ col;mm
col~t ~~-q 7% ~~mcf>mCfiT ~~~~ I~col
~40%11R~ I

~:

-ipITcol~ ~ ffiTffi, ~~. ~ cf> ~ 0/, colTTURT~ I

AP J-H
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WffiT -ipIT 20,00,000

( 10 , 2,00,000)

20,00,000

12%-ipIT '. 10,00,000

9% 30,00,900

80,00,000
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2. (~) .qr.~3lR. FP1TuT~ ~ ~ ~ CfIT mI. 2009_~M I ~ ~
~ 27;12,500 q;r ~ IRufcrWr:rrTJ<IT~~~ffiocn, ~'j~f;1d ('fN~TTURT~~ I

~ 2009-10 *" r~dc:x.jr~dl3W:W-q"{~ -q('fN ~ TTURT~, "IT~'j~ f-1d ('fN ~ ~
-q"{~ ~ ~ *"3W:W -q"{,~~ IfuId CfiICf~ ~ ~ ~ *"~ -qTTURT ~ -;;mft .
t I~ 2009-10 -q ~1«1r~Cf1~~ 2010-11 -q 3i'j~f;1d ~~w.nRt:

8

.

2009-10

c:u~rc.Cf) (~)

2010-11

31, r"d(~)

~Frm

~:~

:3Rf-q~

~~

4,56,000

3,05,000

8,14,000

3,80,000

24,000

2,25,000

37,500

0!p:I" : ~

:3Rf-q~

:~,3Rf-q

~ ~ -q~ (~ ~ -q"{)

1,00,000 1,75,000.

25,000

22,500

75,000 1,50,000
~31, 201OCfiT)

75,000CfiICf~ -q"{~ 30,000

12,75,000 , Tf'CfiICf~~Ifuld

CfiICf3i~~lfuld 40,000

10,00,000 .~~~

~-q~ it.cIT.~ 20% ~~~m~n:cITq)RMTJ<IT 13cfii~r~~~~ 31, 2010

~~m~1

~:

(i) ~ffi9T~ 2009-10CfITFP1TuT~ I

(ii) ~ 2009-10*"r~dc:x.jr"dl*" 3W:W-q"{~-q ('fN~ TTURT~, ~ ('fN-mR

~ *" -;:rrqCf)BTt I

APJ-H P.T.O.
\ -



(12)

APJ-H

..

Marks

(Gf) 3lR.~.it r(1r'-i~~31tFftCRPm ~;ftfu -q dGI~lct1(UI~ ~~ ~ ~«1IfC4o~ ~
~~ictl'1 cn1~-q~ ICRPm-q,~cn1~~~ ~ 225~~~~

3TICffiG:rcrrt -q 5 ~ I ~ ~ rnr mR cprCRPm «IT ~ 7,50,000 ~ I ~ ~ ~

~ ~ 20% cn1G:r~ ~ ~.~ cn1~ wffl ~ I ~ cn1yr~d'1l(.j ~

~~cn160% ~ Ir'1~irCtlo~.mrnr~m~ ~~?
(~, ~~ -q)

,

3. (ar) ~ '31' ~~~~2010cn1r'1~.1f(1r(go ~mwrcn1~t:
~cpr~ :

(i) ~~CfiPt (WIP)

(mmIT: 1O0%~, ~~ dY['(O(.j(.j:25%~)

(ii) r'1~~IO~
(iii) Rli«f~

(iv) ~~CfiPt 31-1O-201OcnT

(mmIT: 1O0%~, ~~ dYkO(.j(.j:50%~) ,

(YfJ1"fficpr ~ :

~~CfiPt:

mmIT

40,000 ~

1,80,000 ~
1,50,000 ~

70,000 ~

~

dY['(O(.j(.j

~ 1,00,000

~ 25,000

~ 45,000

~201O-q~:

mmIT ~ 6,60,000

~ 5,55,000

~ 9,25,000

~

dY['(O(.j(.j

APJ-H

J"'I"' I("I I("I

o:fffir o:fffirI o:fffirn

() 225 275 350

G:r 5 4 3

rnr mR cpr «IT () 7.5 22.5 47.5
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fri~\ull4R~ (WIP) ~ ~~icpri ~wm (FIFO) CffiwWrM~~ I
. ~:

(i) '~~q~ ~~' Cffi~"q;f I

(ii) ffi1Rf~ ~ mqTCffi~"q;f, ~ ~ ~~q~ ~ ~ ffi1Rf CfiT~ .
1T<:rT m I

(iii) 31R;q r~~IUIl4R~~~FWm~Cf11ffi1Rf~~crn1T~"q;f I

(iv) ~ '31' r9ffiTI

(~) (i) 1:fi4 Cf11y rh~ I~ ri ~ Cf11mIT, ~ ~ Cf11mIT ~ f11f~ ~ Cf11mIT
Cf11TfUAT~~YRUII~Cffi~~ :

"

Marks

4

'tiT' '~ ,31ff'

~ (~) 2,50,000 1,25,000 7,50,000

~ffi1Rf (~) 5,00,000 2,50,000 10,00,000

yf(Ctdri~n~ffi1Rfm~ (~) 5 2 7.50

~~m~ (~) 7.50 7 10.0

~~ (~) 75,000 25,000 ;...

(ii) cpl~~n~TfrIT~-q-(fffiffi~~~I~cp<11 ~m-q-cruR~ I 4

4. (31) 31~, 2009 q 2010 cit~.-aTI.m.r~r~~~ ~~rri~r~r~<1 ~: 8

I ,

31-3-2009 31-3-2010 't1t04H'1Qi 31-3-2009 31-3-2010

WRIT 40,00,000 40,00,000 '30,00,000 28,00,000

mBR 8,00,000 9,00,000 36,00,000 35,00,000

(VfN -mr9ffiT 5,00,000 7,20,000 rqrri111(Glcplf) 8,00,000 7,44,000
,

10% 20,00,000 16,00,000 9,60,000 17,00,000

( ) 10,00,000 12,00,000 12,00,000 15,96,000

ffiw 8,00,000 11,60,000 &[(f 1,00,000 80,000

&[(f 40,000 50,000 q 2,80,000 1,70,000
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~r~~cm ~ :

(i) cri 2009-10"-q ~ ~ ~ ~ 6,00,000 -q ~ Cf1l1Tt I l:/BI ~ ~ ~,
~ ~ ~ ~ 2,90,000~, cpt~ 1,00,000-q~ ~ l'FIT, ~ ~ lR ¥f

~~~ 1,50,000~ I . ~

(ii) 1O%~, ~ ~ ~ cri cf>~~, Cffi1fffiR cri 2009-10 -q M
l'FIT,20% cf>I-ilr~~~lR I

(iii) rqr-1~l.1(~l~cplf~cp) cpt ~ 90,000 -q~l'FIT -3ftnVfNcpt~~-q ~«1I~(UI

~ml'FIT I

. (iv) cri2009-10-q~~ 1,60,000Cf1l~Cf1l1Tt I

(v) cri2009-10-q,~~ ~2,40,000Cffi1fffiR~l'FIT I

(vi) ~ cf>m ~ cpt~ ~ 1:JR~ I ~«1lfqd~ cpt~ ~ 1=Rf

~I

(vii) rqr-1~l.1~')~cplr~cpt, ~~cf>~~~~ I

~:

(i) cpl~l{'n~~ -q I.jUq~-1 Cf1l~ I

(ii) cricf> ~~ 31,2010 cpt ~~I~-1 ~mCf1lTTURT~ I

«if) '~1f1~' r~r~~;f ~ Cf1l2,75,000~Cffi~, ~ 37.50 >Jfu~ ~
~lR~ II.jUq~-1l{'n~ffiTRi~17.50Wo~~1 (~ffiTRi ~ 14>Jfu~~
~ ffiTRi~ 3.50 >Jfu~ ~ I) ft2R.~ ~ 35,00,000 ~ (~ ~
~ 15,00,000~~r~d~) Ift2R~cri-q~w:rR~Cf1l~~ I~~~
~~~~I

~:

(i) "Wf-~ ~ m;IT~ ~ w:r-~ ~ m;ITCf1lTTURT~ I

(ii) m'lim;IT ~ (PN) Cf1lTTURT~ I

(iii) ~ m'Ii (EBIT) ~ 2,50,000 ~ cf>m, ~ ~ m;ITCf1lTTURT
~I

(iv) ~m'Ii (PAT) ~ ~~cf>~ ~ 2,50,000~cf>m, ~~
~ (~) Cf1lllURT~ I ~ Cf1l~ 40% 1:JR~ I

APJ-H
-
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5. (31) 31 1=fT'€f,2010 CfIT~ ~ m Cfft-q~ d~I~ct>IG!~ ~ ~ ffi1ffi m -q
~ 8,75,000qft~mFr~~ 1<Wfq~~"$m~m"$~~mFr

~ 7,91,250~ Im~qft~qft~"$ ~~ H~r~r~d ~WPm-q

3Wft~:

8

~

~

(i) ct>1(~I-11 dllR<X.IG! CfiT ~3i<::4I(i1I:4UI 47,500

. (ii) !.Il(lIttf~ct> dllR<X.IG! _CfiT~-3i<:4I(i1I:4UI 32,750

(iii) ~m-q~Wffqft"Ufu 2,25,000

(iv) ffi1ffim -q~ Wffqft"Ufu 2,42,250

(v) ffi1ffim -q~ ~ ~mFrm 1R~ 62,750

(vi) ~"$m~~m-q 7,250

(vii) 3Fffi1JTl:ffm(~ m -q~) 12,500

(viii) ~lIr~r~d~~ 27,500

(ix) Rfim~"$mU1~qqniTcnCfiTffiTffi ~~ict>-1-q~ ~~ict>-1, 6,250

(x) Rfim~"$ 3ffuq~CfiTffiTffi ~~ict>-1-q~ ~~ict>-1 17,500

~:

~ ~~n-sl-iWJ1'ttR~~~~ I

(~) r-1~r~r~d-q3:fm~: 2x4
&:8

(i) ~ ~ct>dl-ict>(UI(f(U '$1~ ~ct>dl-ict>(UI, "I'.!i"4"$~-q I

(ii) ~ r-Slllr-'1G(1 ~ (f(U3iI-i{lct>-1r~lIlr"1G.o~ -q I

APJ-H P.T.O.
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(31) ~ ~ qT ~ '~' (flIT '~' ~ l=J'i:ZiT:p:R -q-{m1 ~~ ~ I~ ~ CfiT~

~ t ~ ~ ~W-tI'1dl~ ~ "ft11R~ Cf))-Cfi«ft ~ I~ '~' qfr"ffi7ffi

~ 5,50,000 ~~ ~ ~ -q~ m ~ I ~ ~ qfr>Ifucrt ~"CjI~'1 "ffi7ffi

~ 1,25,000~ I~ '~'~'~'~~~"ffi7ffi~4,00,000t~~

2 ~-q~m~ I~~qfr>lfu~ ~"CjI~'1"ffi7ffi~ 1,50,000 ~ I ~ cJl«1IOico
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